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(A) (B) (A-B)
FAYT T 25 62 87 87 0
e T 10 19 29 29 0
Efi 13 30 43 46 -3
2 FH T 10 16 26 26 0
KHTH 3 12 15 16 -1
LR 3 11 14 14 0
PARE 435 5 7 12 11 1
Ergihi 7 12 19 22 -3
(i #h) 76 169 245 251 -6
B ZEHT 3 8 11 11 0
=ZFE) 3 8 11 11 0
£ e T 1 3 4 4 0
(ARARR) 1 3 4 4 0
JIASHT 1 1 2 2 0
FEHRHT 3 4 7 7 0
= g AT 7 12 19 19 0
(=R 11 17 28 28 0
JELF T HT 2 6 8 8 0
BT 2 0 2 2 0
Uiy 4 6 10 10 0
T 1 0 1 1 0
7a / EHT 1 0 1 1 0
FRAS 1 0 1 1 0
fRlz o> J5 T 2 4 6 6 0
=0T 5 4 9 9 0
(BTATED) 24 38 62 62 0
(TETRIE) 100 207 307 313 -6




